

Title	On the ring structure of $U_* (BU(1))$
Author(s)	Kamata, Masayoshi
Citation	Osaka Journal of Mathematics. 1970, 7(2), p. 417-422
Version Type	VoR
URL	<a href="https://doi.org/10.18910/9436">https://doi.org/10.18910/9436</a>
rights	
Note	

*Osaka University Knowledge Archive : OUKA*

<https://ir.library.osaka-u.ac.jp/>

Osaka University

## ON THE RING STRUCTURE OF $U_*(BU(1))$

Dedicated to Professor Keizo Asano on his 60th birthday

MASAYOSHI KAMATA

(Received April 20, 1970)

The complex bordism group  $U_*(BU(1))$  consists of the bordism classes of the pair  $(M^k, \xi)$ , [1], where  $M^k$  is a  $k$ -dimensional  $U$ -manifold and  $\xi$  is a complex line bundle over  $M^k$ . We define the multiplication in  $U_*(BU(1))$  as follows,

$$[M^k, \xi][N^l, \eta] = [M^k \times N^l, \xi \hat{\otimes} \eta],$$

where  $\xi \hat{\otimes} \eta$  is the external tensor product of  $\xi$  and  $\eta$ . In this paper, we study the ring structure of  $U_*(BU(1))$  with this multiplication.

### 1. The relation formula in $U_*(BU(1))$

At first we recall the Mischenko series [3], which is essential in the determination of the relation formula in  $U_*(BU(1))$ .

**Theorem 1.1** (Mischenko). *For a complex line bundle  $\xi$  over a CW complex  $X$ , define a series  $g(c_1(\xi))$  by*

$$g(c_1(\xi)) = \sum_{k=0}^{\infty} \frac{x_k}{k+1} c_1(\xi)^{k+1} \in U^*(X) \otimes Q,$$

where  $x_k$  is the class of  $2k$ -dimensional complex projective space  $CP^k$ , and  $c_1(\xi)$  is a cobordism 1-st Chern class of  $\xi$ . This satisfies, for line bundles  $\xi$  and  $\eta$ , the relation

$$g(c_1(\xi \hat{\otimes} \eta)) = g(c_1(\xi)) \times 1 + 1 \times g(c_1(\eta)).$$

Denote by  $\eta_n$  the canonical line bundle over the  $2n$ -dimensional complex projective space  $CP^n$ . It is well known that  $\tilde{U}_*(BU(1))$  is a free  $U_*$  module with a basis  $\{[CP^n, \eta_n], n=1, 2, \dots\}$ . We put

$$\{n\} = [CP^n, \eta_n].$$

Consider the duality isomorphism

$$D: U^*(CP^n \times M^m) \rightarrow U_*(CP^n \times M^m),$$

where  $M^m$  is a  $2m$ -dimensional  $U$ -manifold. The classifying map  $f$  of  $\eta_n \widehat{\otimes} 1_M$ , where  $1_M$  is the trivial complex line bundle over  $M^m$ , induces the homomorphism

$$f_*: U_*(CP^n \times M^m) \rightarrow U_*(BU(1)).$$

Then, we have the following

**Lemma 1.2.**  $f_*D(c_1(\eta_n)^k \times 1) = \{n-k\}[M^m]$ .

*Proof.* It is obtained immediately that

$$D(c_1(\eta_n)^k \times 1) = [N^{n-k} \times M^m, j \times id], \quad [N^{n-k}, j] = D(c_1(\eta_n)^k).$$

And it is obtained in parallel with the case of the lens space, [2], that  $D(c_1(\eta_n)^k) = [CP^{n-k}, i]$ , where  $i: CP^{n-k} \rightarrow CP^n$  is the inclusion map. Therefore,  $f_*([CP^{n-k} \times M^m, i \times id]) = \{n-k\}[M^m]$ . q. e. d.

Consider the duality isomorphism

$$D: U^*(CP^m \times CP^n) \rightarrow U_*(CP^m \times CP^n),$$

and the homomorphism

$$f_*^{m,n}: U_*(CP^m \times CP^n) \rightarrow U_*(BU(1)),$$

where  $f_*^{m,n}$  is the classifying map of  $\eta_m \widehat{\otimes} \eta_n$ . Noting that

$$f_*^{m,n}[CP^j \times CP^n, i \times id] = \{j\}\{n\},$$

we have the following

**Lemma 1.3.**  $f_*^{m,n}D(c_1(\eta_m)^k \times 1) = \{m-k\}\{n\}$ .

For  $[M^k, \xi] \in U_k(BU(1))$ , consider the following homomorphisms

$$\bar{D} = D \otimes id: U^*(M^k) \otimes Q \rightarrow U_*(M^k) \otimes Q,$$

where  $D$  is the duality isomorphism, and

$$\bar{f}_*^\xi = f_*^\xi \otimes id: U_*(M^k) \otimes Q \rightarrow U_*(BU(1)) \otimes Q,$$

where  $f_*^\xi$  is the homomorphism induced by the classifying map of  $\xi$ . Then, we define the homomorphism

$$\Theta: U_k(BU(1)) \rightarrow U_{k-2}(BU(1)) \otimes Q$$

by

$$\Theta[M^k, \xi] = \bar{f}_*^\xi \bar{D}g(c_1(\xi)),$$

where  $g(c_1(\xi))$  is the Mischenko series. Using the standard technique, we can prove that  $\Theta$  is well defined and it is the  $U_*$  homomorphism.

Suppose that

$$\{m\}\{n\} = \sum_{i=0}^{m+n} \alpha_i(m, n)\{i\} \quad \dots\dots\dots(1),$$

where  $\alpha_i(m, n) \in U_{2(m+n-i)}$  and  $\{0\} = 1$ . We can compute the coefficient  $\alpha_i(m, n)$  from the following

**Theorem 1.4.**

- (i)  $\sum_{k=r+1}^{m+n} \frac{x_{k-r-1}}{k-r} \alpha_k(m, n) = \sum_{k=0}^{m+n-1-r} \frac{x_k}{k+1} \{ \alpha_r(m-k-1, n) + \alpha_r(m, n-k-1) \}$ .
- (ii)  $\alpha_{m+n}(m, n) = \binom{m+n}{m}$ .
- (iii)  $\alpha_0(m, n) = [CP^m][CP^n] - \sum_{k=1}^{m+n} \alpha_k(m, n)[CP^k]$ .

Proof. We apply the homomorphism  $\Theta$  to the equation (1).

$$\begin{aligned} \Theta\{m\}\{n\} &= f_*^{m,n} \bar{D}g(c_1(\eta_m \hat{\otimes} \eta_n)) \\ &= f_*^{m,n} \bar{D}\{g(c_1(\eta_m)) \times 1 + 1 \times g(c_1(\eta_n))\}, \text{ by Theorem 1.1,} \\ &= \sum_{k=0}^{m-1} \frac{x_k}{k+1} f_*^{m,n} D(c_1(\eta_m)^{k+1} \times 1) + \sum_{k=0}^{n-1} \frac{x_k}{k+1} f_*^{m,n} D(1 \times c_1(\eta_n)^{k+1}) \\ &= \sum_{k=0}^{m-1} \frac{x_k}{k+1} \{m-k-1\}\{n\} + \sum_{k=0}^{n-1} \frac{x_k}{k+1} \{m\}\{n-k-1\}, \text{ by Lemma 1.3,} \\ &= \sum_{k=0}^{m-1} \frac{x_k}{k+1} \left( \sum_{i=0}^{m+n-k-1} \alpha_i(m-k-1, n)\{i\} \right) \\ &\quad + \sum_{k=0}^{n-1} \frac{x_k}{k+1} \left( \sum_{i=0}^{m+n-k-1} \alpha_i(m, n-k-1)\{i\} \right). \end{aligned}$$

Suppose that  $\alpha_i(m, n)$  is the bordism class of  $M_i$ . Denote by  $f^i$  the classifying map of  $1_{M_i} \hat{\otimes} \eta_i$ , where  $1_{M_i}$  is the trivial line bundle over  $M_i$ .

$$\begin{aligned} \Theta\left(\sum_{i=0}^{m+n} \alpha_i(m, n)\{i\}\right) &= \sum_{i=0}^{m+n} \Theta(\alpha_i(m, n)\{i\}) \\ &= \sum_{i=0}^{m+n} f_*^i \bar{D}(1 \times g(c_1(\eta_i))) \\ &= \sum_{i=0}^{m+n} \sum_{k=0}^{i-1} \frac{x_k}{k+1} (f_*^i D(1 \times c_1(\eta_i)^{k+1})) \\ &= \sum_{i=0}^{m+n} \sum_{k=0}^{i-1} \frac{x_k}{k+1} \alpha_i(m, n)\{i-k-1\}, \text{ by Lemma 1.2.} \end{aligned}$$

Since  $\{\{k\}, k=1, 2, \dots\}$  is the basis of  $U_*$  free module  $\tilde{U}_*(BU(1))$ , comparing

the coefficient of  $\{r\}$  of  $\Theta\{m\}\{n\}$  with that of  $\Theta(\sum_{i=0}^{m+n} \alpha_i(m, n)\{i\})$ , (i) follows.

Putting  $r=m+n-1$  on the equation (i),

$$\alpha_{m+n}(m, n) = \alpha_{m+n-1}(m-1, n) + \alpha_{m+n+1}(m, n-1).$$

Hence, by induction (ii) follows. Applying the homomorphism

$$c_*: U_*(BU(1)) \rightarrow U_*,$$

given by the collapsing map  $c: BU(1) \rightarrow$  a point, to the equation (1), (iii) follows.

**2. The ring structure of  $U_*(BU(1)) \otimes Z_p$**

In this section we study the ring structure of  $U_*(BU(1)) \otimes Z_p$ ,  $p$  a prime. We put  $[\overline{M}, \xi] = [M, \xi] \otimes 1 \in U_*(BU(1)) \otimes Z_p$ . We define the homomorphism

$$\mu_p: U_*(BU(1)) \otimes Z_p \rightarrow H_*(BU(1)) \otimes Z_p$$

by  $\mu_p = \mu \otimes id$  with  $\mu[M, \xi] = f_*^\xi \sigma(M)$ , where  $\sigma(M)$  is a fundamental class of  $M$  and  $f_*^\xi: H_*(M) \rightarrow H_*(BU(1))$  is the homomorphism induced by the classifying map  $f^\xi$  of  $\xi$ . We have immediately the following

**Lemma 2.1.** *If  $n > 0$ , then  $\mu([N^n][M, \xi]) = 0$ .*

**Proposition 2.2.** *For  $p$  a prime,  $\{\overline{p^k}\}$  is indecomposable.*

*Proof.* Suppose that

$$\{\overline{p^k}\} = \sum_{\substack{t_1 + \dots + t_n = p^k \\ p^k > t_n > 0}} \overline{\alpha}_{t_1, \dots, t_n} \{\overline{t_1}\} \dots \{\overline{t_n}\} + \sum_{\dim \beta_m > 0} \overline{\beta}_m \{\overline{m}\}.$$

Using the relation (1) of § 1 and Theorem 1.4, (ii),

$$\{\overline{t_1}\} \dots \{\overline{t_n}\} - \binom{t_1 + t_2}{t_2} \binom{t_1 + t_2 + t_3}{t_3} \dots \binom{p^k}{t_n} \{\overline{p^k}\} \in \overline{U}_* \cdot U_*(BU(1)) \otimes Z_p,$$

where  $\overline{U}_* = \sum_{i>0} U_i$ . Since  $\binom{p^k}{t_n} \equiv 0 \pmod p$ ,

$$\{\overline{p^k}\} \in \overline{U}_* \cdot U(BU(1)) \otimes Z_p.$$

By Lemma 2.1,  $\mu_p \{\overline{p^k}\} = 0$ . Denote by  $c$  the generator of  $H^2(BU(1))$ . Since  $\langle c^{p^k}, \mu \{\overline{p^k}\} \rangle = 1$ ,  $\mu_p \{\overline{p^k}\}$  is the generator of  $H_*(BU(1)) \otimes Z_p$ . Therefore, the proposition follows. q.e.d.

**Proposition 2.3.** *For  $p$  a prime,  $\{\overline{p^k}\}^p \in \overline{U}_* \cdot U_*(BU(1)) \otimes Z_p$ , where  $\overline{U}_* = \sum_{i>0} U_i$ .*

Proof. By Theorem 1.4, (ii),  $\{p^k\}^p$  is represented as follows,

$$\{p^k\}^p = \binom{2p^k}{p^k} \dots \binom{p^{k+1}}{p^k} \{p^{k+1}\} + \sum_{m < p^{k+1}} \beta_m \{m\}.$$

Since  $\binom{2p^k}{p^k} \dots \binom{p^{k+1}}{p^k} \equiv 0 \pmod p$ ,

$$\overline{\{p^k\}^p} = \sum_{m < p^{k+1}} \overline{\beta_m \{m\}},$$

where the dimension of  $\beta_m$  is positive. q. e. d.

**Theorem 2.4.** *Suppose that  $p$  is prime. Let  $\Delta_*$  be  $U_*$  free module with a basis*

$$\{\{p^{k_1}\}^{i_1} \dots \{p^{k_n}\}^{i_n}; 0 \leq k_1 < \dots < k_n, 0 < i_j < p\}.$$

Then,  $\Delta_* \otimes Z_p \approx \tilde{U}_*(BU(1)) \otimes Z_p$ .

Proof. Denote by  $\psi$  the natural homomorphism from  $\Delta_* \otimes Z_p$  to  $\tilde{U}_*(BU(1)) \otimes Z_p$ . Suppose that

$$\sum \alpha(i_1, \dots, i_n; k_1, \dots, k_n) \overline{\{p^{k_1}\}^{i_1} \dots \{p^{k_n}\}^{i_n}} = 0 \quad \dots \dots \dots (2)$$

We define the order in the set consisting of  $(i_1, \dots, i_n; k_1, \dots, k_n)$  as follows,

$$(i_1, \dots, i_n; k_1, \dots, k_n) < (i'_1, \dots, i'_n; k'_1, \dots, k'_n) \quad \text{if } \sum_{j=1}^n i_j p^{k_j} < \sum_{j=1}^n i'_j p^{k'_j}.$$

Let  $(\tilde{i}_1, \dots, \tilde{i}_n; \tilde{k}_1, \dots, \tilde{k}_n)$  be maximal in the set consisting of  $(i_1, \dots, i_n; k_1, \dots, k_n)$  which is used in the equation (2). Put

$$q = \sum_{j=1}^n \tilde{i}_j p^{\tilde{k}_j}.$$

By Theorem 1.4,

$$\{p^{\tilde{k}_1}\}^{\tilde{i}_1} \{p^{\tilde{k}_2}\}^{\tilde{i}_2} \dots \{p^{\tilde{k}_n}\}^{\tilde{i}_n} = c\{q\} + \sum_{s < q} \beta_s \{s\},$$

where

$$\begin{aligned} c &= \binom{2p^{\tilde{k}_1}}{p^{\tilde{k}_1}} \dots \binom{\tilde{i}_1 p^{\tilde{k}_1}}{p^{\tilde{k}_1}} \dots \binom{q}{p^{\tilde{k}_n}} \\ &\equiv \tilde{i}_1! \dots \tilde{i}_n! \pmod p \\ &\not\equiv 0 \pmod p. \end{aligned}$$

Then, the equation (2) becomes

$$\alpha(\tilde{i}_1, \dots, \tilde{i}_n; \tilde{k}_1, \dots, \tilde{k}_n) c \overline{\{q\}} + \sum_{s < q} \overline{\beta_s \{s\}} = 0.$$

Since  $\tilde{U}_*(BU(1))$  is the  $U_*$  free module with the basis  $\{\{m\}, m=1, 2, \dots\}$  and  $c \not\equiv 0 \pmod{p}$ ,  $\bar{\alpha}(\tilde{i}_1, \dots, \tilde{i}_n; \tilde{k}_1, \dots, \tilde{k}_n) = 0$ . By induction, it follows that  $\bar{\alpha}(i_1, \dots, i_m; k_1, \dots, k_m) = 0$  and  $\psi$  is monomorphism.

We show that each  $\overline{\{n\}}$  belongs to the image of  $\psi$ . By the definition of  $\Delta_*$ ,  $\overline{\{1\}} \in \text{image } \psi$ . Suppose that  $\overline{\{m\}} \in \text{image } \psi$  for  $m < n$ . We represent  $n$  as follows,

$$n = j_1 p^{k_1} + \dots + j_r p^{k_r},$$

where  $0 < j_s < p$ ,  $0 \leq k_1 < \dots < k_r$ . By Theorem 1.4,

$$\{p^{k_1}\}^{j_1} \dots \{p^{k_r}\}^{j_r} = c\{n\} + \sum_{s < n} \beta_s \{s\},$$

where

$$\begin{aligned} c &= \binom{2p^{k_1}}{p^{k_1}} \dots \binom{j_1 p^{k_1}}{p^{k_1}} \dots \binom{n}{p^{k_r}} \\ &\equiv j_1! \dots j_r! \pmod{p}. \end{aligned}$$

Since  $c \not\equiv 0 \pmod{p}$  and  $\overline{\{p^{k_1}\}^{j_1} \dots \{p^{k_r}\}^{j_r}} \in \text{image } \psi$ , the inductive hypothesis implies that  $\overline{\{n\}} \in \text{image } \psi$ . q. e. d.

OSAKA CITY UNIVERSITY

---

### References

- [1] P.E. Conner and E.E. Floyd: Torsion in SU-bordism, Mem. Amer. Math. Soc. 60, 1966.
- [2] M. Kamata: *The structure of the bordism group  $U_*(BZ_p)$* , Osaka J. Math. 7 (1970), 409–416.
- [3] S.P. Novikov: *The methods of algebraic topology from the viewpoint of cobordism theories*, Izv. Akad. Nauk SSSR. Ser. Mat. 31 (1967), 855–951.